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Interference between two point sources
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Optical interference between two point sources

for different wavelengths and source separations
Shorter wavelength
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Two vertical electric dipole antennas located 300 m apart transmit
radio waves of wavelength 4 =100 m . Each antenna transmits
the same power in every horizontal direction.

Suppose that the electric currents in the antennas that produce
the waves are in phase with each other.

A detector is moved around a circle of radius 100 km from the
midpoint between the antennas.

At how many points along the entire circle would
intensity maxima be detected?

.
A.8 B.10  ( C.12 D. 14 E. 16




Q: 09 o,
formatima: d =300,
Cono b G'ye ‘' "9;'%(( ———————— ¢ ~~~~~~~~
$in Q(o»f = ° ‘% =e
: A
o».@or 730 o a8 =z
. l “
Q1" « - l% :'}"'
® ':
A 2 e @ In S
", = - ® ! o
SR A ﬁ /
5 N ‘ antennas g
2% 333——:’ ‘ -
d o | ® 2y -/
”.h q"l‘/'&=’i7l
d 3 u g .
| Hmzg
________ o

=/ (2 mmatimg

(&




ﬁUZJ&n 5/ P-n'»-,a'r,)e;

/{/('F/'od FOV 0(1{‘(7"'.01:'”0) éwbv de(ﬁ,o—,F;
PWP&(}a# ( Cﬂa"ufa.. Hu/d,a,,, )/5-7?).'

—_ /4” poa’nb On a bvawfw-»‘é 24ve 4> a
Fot'nf 20 U~ee 0C o,,luval O(Condar7 wa(/c."g,

— M @ b €, the mew poitrom of i
u,au(Pm—."‘ wo/ bLe €At of a surfac LLet
£> -(-a.-.é,c.q% b L O(cohda?, hWavele

- Wﬂ\l(fy-oq{: 6{,(.,4,5 ,Fov'ln(o{ L; 'ﬂop'n'lb ¢ a
Wiate €hat hLave €Le »om, phowe.




chafqﬂ{ﬁi
Plane Wave:
o €omgan:

Mw Wwalt—

front at
é: b'(‘

Vware




Doc ble .Y/;'{- Dntafe o

(om.‘o&«; ‘olam( wave (weidest oma Larve
Chat havw Cuo Vey mamew bt /51

(‘v\JO:ﬂJ ‘Q’aq,(
Wwave s ~
/-’ B _ -
/ ephtical wawe -7
Vs from bele - G it
T il | s
N2 ..o . e mr e T vee..,
d ﬂ 2, ANy
> - —
<

VL(7 Norvrow 20D foehaw Lty o F,o;,,-,( 90“‘%1

=D g,c" zzf'[:’f:‘n‘( (Fvvh {“LVO ]’0"»'* oowc..sa,



=) 'g’oﬁﬁ aLOU€ Fl,r élﬂo Po:',.,}t Jow. e :
Argle of com ot bt Indefoctnce ( mmarina):

. ) - l
570“0 9‘“\0"?‘0(.""0( =™ 2- %:q i'l, t 2'"

AﬂD'A 01£ b&a"*qch'-.c '31:7‘4#,4_,(( C,.,.,',..-,,,Q};

2in & badycine = (743) 2| amcgesza

-




Interference between waves from two
narrow slits




